

(43) $\int_0^3 x \sqrt{x^2+1} dx$ Let $u = x^2+1$, $du = 2x dx$ If $x=0$, $u=1$
 $x=3$, $u=10$

$$= \frac{1}{2} \int_1^{10} \sqrt{u} \cdot 2x dx = \frac{1}{2} \int_1^{10} \sqrt{u} du = \frac{1}{2} \int_1^{10} u^{1/2} du = \frac{1}{2} \left[\frac{2}{3} u^{3/2} \right]_1^{10} = \boxed{\frac{1}{3} (10^{3/2} - 1)}$$

(48) $\int_{\ln 4}^{\ln 9} \frac{e^x}{(e^x-3)^2} dx$ Let $u = e^x - 3$, $du = e^x dx$ If $x = \ln 4$, $u = e^{\ln 4} - 3 = 4 - 3 = 1$
 $x = \ln 9$, $u = e^{\ln 9} - 3 = 9 - 3 = 6$

$$= \int_{\ln 4}^{\ln 9} \frac{1}{(e^x-3)^2} \cdot e^x dx = \int_1^6 \frac{1}{u^2} du = \int_1^6 u^{-2} du = \left[-\frac{1}{u} \right]_1^6 = -\frac{1}{6} - (-1) = \boxed{\frac{5}{6}}$$

(49) $\int_0^{\pi/3} \sin x \cos x dx$ Let $u = \sin x$, $du = \cos x dx$ If $x=0$, $u = \sin 0 = 0$
 $x = \frac{\pi}{3}$, $u = \sin \frac{\pi}{3} = \frac{\sqrt{3}}{2}$

$$= \int_0^{\sqrt{3}/2} u du = \left[\frac{1}{2} u^2 \right]_0^{\sqrt{3}/2} = \frac{1}{2} \left(\frac{3}{4} - 0 \right) = \boxed{\frac{3}{8}}$$

(50) $\int_0^{\pi/3} \sin x \cos x dx = \frac{1}{2} \int_0^{\pi/3} 2 \sin x \cos x dx = \frac{1}{2} \int_0^{\pi/3} \sin 2x dx = \frac{1}{2} \left[-\frac{1}{2} \cos 2x \right]_0^{\pi/3}$
 $= -\frac{1}{4} (\cos \frac{2\pi}{3} - \cos 0) = -\frac{1}{4} (-\frac{1}{2} - 1) = -\frac{1}{4} (-\frac{3}{2}) = \boxed{\frac{3}{8}}$

(51) $\int_0^{\pi/4} \tan x \sec^2 x dx$ Let $u = \tan x$, $du = \sec^2 x dx$ If $x=0$, $u = \tan 0 = 0$
 $x = \frac{\pi}{4}$, $u = \tan \frac{\pi}{4} = 1$

$$= \int_0^1 u du = \left[\frac{1}{2} u^2 \right]_0^1 = \frac{1}{2} (1 - 0) = \boxed{\frac{1}{2}}$$

REMARK IN #49, we could also let $u = \cos x$; AND IN #51, we could also let $u = \sec x$,

(52) $\int_0^{\pi/3} \frac{\sin x}{\cos^2 x} dx = \int_0^{\pi/3} \frac{\sin x}{\cos x} \cdot \frac{1}{\cos x} dx = \int_0^{\pi/3} \tan x \sec x dx = \left[\sec x \right]_0^{\pi/3} = (\sec \frac{\pi}{3} - \sec 0)$
 $= \frac{1}{\cos \frac{\pi}{3}} - \frac{1}{\cos 0} = 2 - 1 = \boxed{1}$

OR Let $u = \cos x$, $du = -\sin x dx$ If $x=0$, $u = \cos 0 = 1$
 $x = \frac{\pi}{3}$, $u = \cos \frac{\pi}{3} = \frac{1}{2}$

$$- \int_0^{\pi/3} \frac{1}{\cos^2 x} (-\sin x) dx = - \int_1^{1/2} \frac{1}{u^2} du = \int_{1/2}^1 u^{-2} du = \left[-\frac{1}{u} \right]_{1/2}^1 = -\left(1 - \frac{1}{1/2} \right) = -1 + 2 = \boxed{1}$$

(53) $\int_5^9 \frac{x}{x-3} dx = \int_5^9 \left(1 + \frac{3}{x-3} \right) dx$ $\leftarrow \frac{x}{x-3} = \frac{(x-3)+3}{x-3} = \frac{x-3}{x-3} + \frac{3}{x-3} = 1 + \frac{3}{x-3}$

$$= \left[x + 3 \ln(x-3) \right]_5^9 = (9 + 3 \ln 6) - (5 + 3 \ln 2) = 4 + 3 (\ln 6 - \ln 2) = \boxed{4 + 3 \ln 3}$$

OR Let $u = x-3$, $x = u+3$, $dx = du$ If $x=5$, $u=2$
 $x=9$, $u=6$

$$\int_5^9 \frac{x}{x-3} dx = \int_2^6 \frac{u+3}{u} du = \int_2^6 \left(1 + \frac{3}{u} \right) du = \left[u + 3 \ln u \right]_2^6$$

$$= (6 + 3 \ln 6) - (2 + 3 \ln 2) = 4 + 3 (\ln 6 - \ln 2) = \boxed{4 + 3 \ln 3}$$

7.1 - (55) $\int_e^{e^2} \frac{dx}{x(\ln x)^2}$ Let $u = \ln x$, $du = \frac{1}{x} dx$ If $x=e$, $u = \ln e = 1$
 $x=e^2$, $u = \ln e^2 = 2$

$$= \int_e^{e^2} \frac{1}{(\ln x)^2} \cdot \frac{1}{x} dx = \int_1^2 \frac{1}{u^2} du = \int_1^2 u^{-2} du = \left[-\frac{1}{u} \right]_1^2 = -\frac{1}{2} - (-1) = \boxed{\frac{1}{2}}$$

(57) $\int_1^9 \frac{1}{\sqrt{x}} e^{-\sqrt{x}} dx$ Let $u = -\sqrt{x}$, $du = -\frac{1}{2\sqrt{x}} dx$ If $x=1$, $u = -1$
 $x=9$, $u = -3$

$$= (-2) \int_1^9 e^{-\sqrt{x}} \cdot \left(\frac{1}{2\sqrt{x}}\right) \cdot \frac{1}{\sqrt{x}} dx = -2 \int_{-1}^{-3} e^u du = 2 \int_{-3}^{-1} e^u du = 2 [e^u]_{-3}^{-1} = \boxed{2(e^{-1} - e^{-3})}$$

(58) $\int_0^2 x\sqrt{4-x^2} dx$ Let $u = 4-x^2$, $du = -2x dx$ If $x=0$, $u = 4$
 $x=2$, $u = 0$

$$= \left(\frac{-1}{2}\right) \int_0^2 \sqrt{4-x^2} (-2)x dx = -\frac{1}{2} \int_4^0 \sqrt{u} du = \frac{1}{2} \int_0^4 u^{1/2} du = \frac{1}{2} \left[\frac{2}{3} u^{3/2} \right]_0^4 = \frac{1}{3} (4^{3/2} - 0) = \frac{1}{3} (2^3) = \boxed{\frac{8}{3}}$$

7.2 - (1) $\int x \cos x dx$ Let $u = x$, $dv = \cos x dx$
 $du = dx$, $v = \sin x$

$$= x \sin x - \int \sin x dx = x \sin x - (-\cos x) + C = \boxed{x \sin x + \cos x + C}$$

(7) $\int x e^x dx$ Let $u = x$, $dv = e^x dx$
 $du = dx$, $v = e^x$

$$= x e^x - \int e^x dx = \boxed{x e^x - e^x + C}$$

(9) $\int x^2 e^x dx$ Let $u = x^2$, $dv = e^x dx$
 $du = 2x dx$, $v = e^x$

$$= x^2 e^x - 2 \int x e^x dx \leftarrow \text{(now use #7)}$$

$$= x^2 e^x - 2 [x e^x - e^x] + C = \boxed{x^2 e^x - 2x e^x + 2e^x + C}$$

OR

u	dv
x ²	+ e ^x dx
2x	- e ^x
2	+ e ^x
0	+ e ^x

$$\int x^2 e^x dx = \boxed{x^2 e^x - 2x e^x + 2e^x + C}$$

(13) $\int x \ln 3x dx$ Let $u = \ln 3x$, $dv = x dx$
 $du = \frac{1}{3x} dx$, $v = \frac{x^2}{2}$

$$= \frac{x^2}{2} \ln 3x - \frac{1}{2} \int x^2 \cdot \frac{1}{x} dx$$

$$= \frac{x^2}{2} \ln 3x - \frac{1}{2} \int x dx = \boxed{\frac{x^2}{2} \ln 3x - \frac{1}{2} \cdot \frac{x^2}{2} + C} = \boxed{\frac{1}{2} x^2 \ln 3x - \frac{1}{4} x^2 + C}$$